
FORMULAS

Bivariate regression models

E(y) = α + βx ŷ = a + bx r = b(sx/sy) r2 = (TSS − SSE)/(TSS)
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SSE/(n − 2) = Root MSE

Multiple regression models

E(y) = α + β1x1 + β2x2 + · · · + βkxk ŷ = a + b1x1 + b2x2 + · · · + bkxk

R2 = (TSS − SSE)/(TSS) TSS =
∑

(y − ȳ)2 SSE =
∑

(y − ŷ)2

F =
R2/k

(1 − R2)/[n − (k + 1)]
=

MS(regression)

MSE
df1 = k, df2 = n − (k + 1)

t = bi/se df = n − (k + 1) bi ± tα/2(se)

Comparing models:

F =
(R2

c − R2

r)/df1

(1 − R2
c)/df2

, df1 = no. extra parameters, df2 = n−(k+1) complete model
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